_(LURSA MAJOR
= AR ER

Product Introduction

SIRIUS Produced
Anti-fiex Associated



O,

FXEBAFEKERE

Customized suitcase is provided for delevery.

%3% SIRIUS DESIGN

{ Ursa Major Sop 2022
)




FIEF, AURERSHREFE (EAmED) . B
VAR EBRRREE (SN5RiER)
The keyboard is soft-assembled, while separately located on

two sides (left and right). In the middle space, Accessories
and the pedestal (if purchased) would be found.

s T B HeRIRES REM 5 AIB, BUHBEEAR,
HEPREDE, TN RNT CIREEE.

Additional color decorative aluminum accessories and
PCB suits can be seen under thr keyboard, when taken out
the keyboard and middle cushion. (if purchased)

AW MBS, BERIIMIRIF IR,

If you purchase a large number of additional accessories,
additional cartons would be provided for packaging and
delivery.



BHEALT: (B9 a. b, c SRBEEVAR)
The accessories contain:
( notice a, b, and ¢ are necessary to provide essential function)

a. A@THIrTER *4
White two-leg lamp bead * 4
b. BEREAM 1
Nylon roller component*1
c. [ESigERE *2
Signal Booster Antenna*2
d. BN *8 (B *4+ KEMAR *4)
Feet stickers*8 (round shape*4+long shape*4)

e. ISMBLET

Extra screws




b & @

i

Disassembling

RERELFBRANRS, BNIENT:

In order to properly cancel the soft-assembling, following
steps is suggested:

Step O: Bttt AThEE
Test PCB trigger function

- d=aliny

RIS, FHalite!

Right
Alt

FERENK

BERFRHE LNE TEESRR, ENERAERRMG LINK #T7EE

The keyboard development is completed by LNE Studio, and it is
recommended to use the official software LINK for management.

NOTE: F=RENAEFERDS PC ENBEFERE, AFBREEFIBLBEFES.

By default, the left-hand part communicates with the PC host via Bluetooth, while the right-hand
part communicates with the left-nand part via Bluetooth.

MENBFESRIF, ALEEANRTRHERT, FIANFHRBAX, FERABEFEEEN,
HITRA L,

If the Bluetooth signal of the host is good, you can turn on both parts' power supply switches
when the battery is connected, connect the host with Bluetooth, and conduct the trigger test.
MENBFEEARR, IEM TypeC BEERAF, HHGFHEFX, ERBEEEEEN,
TR,

If the Bluetooth signal of the host is poor, use the TypeC cable to connect the left hand, turn on
the power supply switch of the right hand, and use the cable to connect the host for the trigger
test.



Step 1 {EEESH

Turn to the bottom side

Step 2: BYFIEEEBIELZ x10 (FFiskA7<A M2*14 ~M2*16)
Remove the bottom screw x10
(countersunk hex socket screw M2 * 14~M2 * 16)




Step 3: FIFHER, MEFHEZE (EBNARFF PCB (LERYEN)

Open the keyboard and unlock the cable
(recommended to unlock the interface at the PCB side)

NOTE: HFIEHER, BIMEA SR (BRI BL5)*2) , FHITME,
Due to the transportation requirements, the overseas version does not
include batteries (Nokia BL5J * 2), which should be purchased locally

HithIMREIE (EA75E M2*4 ~M2*16)

(countersunk hex socket screw M2 * 4~M2 * 6) (countersunk hex socket screw M2 * 4~M2 * 4)

BEEE (fkR7H M2*3 ~M2*4)



Step 4: N FEAFZEANIRLZ X6 (NLA7<AH M2*5/M2*6)
Remove the screws X6 (countersunk hexagonal socket M2 * 5/M2 * 6)
on both left and right side.

Step &: {GEIRMBIE, REERIG, HEEH{TESE.
After obtaining the core, remove the fasteners and prepare for further
assembly work.




Step 6: RAFEAREM: EAR. i, PCB, HARHITHRE.

Parts visible after expansion: positioning plate, sandwich cotton, PCBs

5iffR PCB S5E(utR (£ K& (Bl c) #iT&EE, SNEZNES.
Please ensure that PCB and positioning plate are connected by accessory c,
otherwise, the signal would be unstable.

Z=F PCB {ERXTER (Bifta) #ITIRIR. HF PCB ERRE (Hfthb) HiTIRE.

Accessory a would be used on left-hand PCB  Accessory b would be used on right-hand PCB




IFEEQIRR

Key points for welding and assembly

FREAEMREEM, RILANEIRAE, M EERHRI.

This product uses the positioning plate satellite. You can start from the
plate, install the switch and satellite and adjust them.

KIERSBIAIENR, TIRIE PCB LIFCiHITRER.
BIATIREHITIRIETE, BIESRERILAS RS TRYEHHR.
The lamp bead long pin is a positive pole, which can be installed
¥ referencing to the marks on the PCB.

Once confirmation, the welding work can be carried out, and cut off pin
extra part can after welding.

RECHT TR *1 5 B4eaRiEeE *2 H. BNERET R
RIBE, IRFESIERNASHE, ERIA PCB f{i,
IE9h, FESERREEIRIEAE 3 BILLARIDEE.

The roller component functions by printed-nylon roller * 1 and
Kaihua encoder * 2

It is recommended to use tweezers to adjust the encoder position
and the angle of the encoder support foot,

Make it match the PCB hole position. In addition, the encoder only
needs to weld the middle 3 pins to achieve the function.

WiEIETE PCB SE(RZIAREBELR,

| BUERREEEES XL, HiEN—E
FEH, MERIEREHIRRHE, LIRE
PIRBESE,

If you choose to install sound insulation

.3 cotton between PCB and the plate, it is
2 recommended to use adhesive tape to

lock the signal antenna, apply certain

il pressure, and preferentially weld the

d switches near the antenna to ensure that

i the core sets tightly.




EEEZAAE

Reassembling

Step O: ISIRIERENME 5 ZadiE MEF L=,

Place the completed core and colored middle frame on the top sheld.

Step 1. REEAFSEMBL X6 (LA7<H M2*5/M2*6)
Install the screws X6 (countersunk hexagonal socket M2 * 5/M2 * 6)
on both left and right side.




Step 3: EEIREAHES

Connecting the cable from the bottom shell

Step 4: R ETR

Close the top and bottom shells

) TRRHEE IR IE B iR TR ES .
e C > cO [ e SCre A

> th e sC the she

Step 5: EEEARIZLE x10 (fiskA7<A M2*14 ~M2*16)
Install the bottom screw x10
(countersunk hex socket screw M2 * 14~M2 * 16)




EJaE

Using

ERm=DN 2FTEIRN & BEHEN:
The usage scenarios had two mode:
full-wireless mode and wired mode

2T&HIEN
full-wireless mode
Ursa Major [}
ikt 100%

BEF. AFHIFEE ON (8, 5 PC IEFEXIRIATIARE.
Tun “ON” the left-hand and right-hand power supply, and link it with PC's Bluetooth.

IENT, ERFIRER RILE,

In this mode, the left-hand and right-hand rely on the battery board for power supply.

WERXT, EFPEF, KEETS PCEE; AFHEIF, KEBEFSEFEE.

In this mode, the left-hand (the master) communicate with PC through Bluetooth, and the right-
hand(slave) communicate with the left-hand through Bluetooth.

B

wired mode

G s

EFELBEERNEE PC, BF (FFXIA) BEIEIEFSEFERE.

When the left-hand connected to the PC through wired mode, and the right-hand (switch on) will
automatically link to it, and communicate with the left-hand through Bluetooth,

WRAT, EFBIELS PCEE, BEILLME (Bikzwad) .

In this mode, the left-hand communicates with the PC through the cable and supplies power
through the cable as welll (battery charging)

MBAFHEIMNGLEE, AF (FXTH) ZRBESBEFSEFERE, (BIkELLKHE
(F8ith7EraH)

If the right-hand is also connected to a wired connection, the right-hand (switch on) will still

communicate with the left hand through Bluetooth, but will supplies power through the cable

(battery charging).



Usmg

5 PCHTIEAF LR, #(FulT:

Tum on the battery power of both hands and connect the PC with
Bluetooth matching. The operations are as follows:

=5
& +m A FIEMIRE
E= £ | ENETASAE
85
=T
| B mFasas @
B e TAERIH e DESKTOR-MNSTS )3z
0 s& E34—
HAR. BRINE
= @A ARES
o ZEF0 Windows Ink Meowtool mini
EE ooy
® ez
Meowtool mini
o EE ooy
MeowTool mini BLE
B Loy

PRO X Wireless

RS

{RENGFE T HEEME

Ursa Major

RN

MR

FRFRTRE T REN. £ MR EEEAE.

G FAnEE

Ursa Major




3Usmg

ERRASSTREREEE A Ine link #1781,
BB S windows K mac 2, TNEBHE: https://www.Inelab.com/

After the keyboard is assembled, please use the Type-C cable
and the software LINK for management,

The software includes Windows and Mac support.

Download address: https:// www.Inelab.com/

LINK

>

CEEnaEE() Ursa MEJ or

€]

Ursa Major

b &

BEER

Higm
SIRIUS

B+ BELR

7 1D

8257

BEFEIS TRES
E9508E04DB6A




BERE

Key value settings

LINK

M Ursa Major 0 1 2 3
SIRIUS

& S

= g
% EF
BEEPIER O

LINK

D & B »

Bottom Row
Common -

N M Right
. / Shift
Right Right || Right e 0 ay
Alt Win Ctrl
8 zaz3 € =3Es 3 =FEe
Esc F F2 F3 F4 F5 6 F7 8 F9 F10 F11 F12 Pt serol Pause x
Screen | Lock.
~ [ e # B % ~ - ( ) - Page Num 5 R
: 5 5 i H . 5 5 H - Back Space insert | Home o | 7
{ ; I Page
Tab Q w E R T A u 1 o L 3 ] \ el end i * 8 9
Caps Lack A s o F G H J K L Enter 4 5 6
Left shift r 2 X < v B M / Right shift. 1 1 2 3
I Num
enter
Leftctd  Leftwin  Leftalt Spacs RightAlt Rightwin App  Rightcul e 1 % o
AJ
- a X

Ursa Major 0 1 2 3
SIRIUS

SEHFAHE

3 ==

BEREDIFR

~ Bottom Row

/

Right
Shift

[1
]

Right
Win

Right
Ctrl

T

USBRHIBR T, #NNIREAETE

{REREET







